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SUMMARY OUTPUT

Regression Statistics

Multiple R 0.93678
R Square 0.877556
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Total 5 91403583
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Error
Intercept 3154.7 3923.563 0.80404 0.46644
X Variable 1 5.126288 0.957423  5.354257  0.005869
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x 1.00816

x 1.17110
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4462  -0747  -0.879
x"x)' = -0.747  0.056  0.006
-0.879  0.006  0.019

0 [5]- [x"x]" [x7Y] 8
15.48
[5]- 1.1
-0.044
nanlavagiesld b, =1548, b, =11,  b,=-0044

AUNINADOUAD $ = 1548+ 1.1x, - 0.044x,

Y

a o o o A @ dy
wininsafSouiouduTdsunsududegy EXCEL nuhiinnudeandosiu dail

Coefficients
Intercept 15.47778
x, 1.1
%, -0.04444
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1. fMuald

ﬁyuﬁmﬁu(m.u.) SIANWULIN)
15 145
38 228
23 150
16 130
16 160
13 114
20 142
24 265

1.1 fMvuald X unu ﬁuﬁmﬁu(ﬂs.u.) Y unu s1auum) Teelddsmaumnsnd
N, 9m XX waz XY
Y. 9IMIA b, WAz b,
fl. ﬁummﬂnawmi’fﬂym;ﬂﬁ
3 wmanunlsdsiauves b, uaz b,

9. 931IA1 SS,

a, a o a, 4 a
1.2 sutfSeufouismaunsnsuazdsms luuni 2 veesue

15 55 130
waz D2Y: = 330

2.1 wmaumsnanesduduns et ndisvedoyayail

22 samanundsysiuees b, uaz b,

2.3 WM SS,
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3.8 Y Suduasinat X Sudulstase Tawaadsi
X = 450 >x° = 73020 2 XY = 9,900
Y = 660 Y = 15270 n = 30
3.1 Wb, LAz b, AILIBMIAG
32 awanwuideiiu 95 % P, fisegszniiila
33 §1 X = 18 Aawnnuidfeiiu 95 % FsTUzUBImAmIARIURIRGLVEY
Y widumila

3.4 WA SS, UAY SS,

4. fvuald 1 3 | [ 15 |
1 5 20
X = 1 8 Y= 16
1 1 10
1 10 22
L _

4.1 991 XX uaz XY
429IMA1 b, WAL b,

) v
5. e Y Whudwalseu X fludusdase n = 10 uazmimaieg 1aasil
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Xy =
420
I
Yy = [1504]
1.5
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| 10

waz DX = 240
o 3y v P [V
5.1 mmﬁummmaaﬂ%mmzmm Y Lllﬂ?'ﬂ'l X

52 Wmm SS, uae SS,

53 9me r




183

6. ndoyane il ssmaunsensealaslynszuiumsmanming

Datafile Name: Clouds

Reference: Chambers, Cleveland, Kleiner, and Tukey. (1983). Graphical Methods for Data
Analysis. Wadsworth International Group, Belmont, CA, 351. Original Source: Simpson, Alsen,
and Eden. (1975). A Bayesian analysis of a multiplicative treatment effect in weather
modification. Technometrics 17, 161-166.

Description: Rainfall from Cloud-Seeding. The rainfall in acre-feet from 52 clouds 26 of which
were chosen at random and seeded with silver nitrate.

Number of cases: 9

Variable Names:

Unseeded_Clouds: Amount of rainfall from unseeded clouds (in acre-feet)

Seeded_Clouds: Amount of rainfall from seeded clouds with silver nitrate (in acre-feet)

The Data:
Unseeded Clouds Seeded Clouds Unseeded Clouds Seeded Clouds
473 242.5 41.1 200.7
36.6 198.6 29.0 129.6
28.6 119.0 26.3 118.3
26.1 115.3 244 924
21.7 40.6
7. WHIANMNISOANOYDY Alcohol and Tobacco lauiiguysaai 1) Region: Region of

Great Britain 2) Alcohol: Average weekly household spending on alcoholic beverages in pounds

3) Tobacco: Average weekly household spending on tobacco products in pounds

Region Alcohol Tobacco Region Alcohol Tobacco
North 6.47 4.03 Yorkshire 6.13 3.76
Northeast 6.19 3.77 East Midlands 4.89 3.34
West Midlands  5.63 3.47 East Anglia 4.52 2.92

Reference: Moore, David S., and George P. McCabe (1989). Introduction to the Practice of

Statistics, p. 179. Original source: Family Expenditure Survey, Department of Employment, 1981

(British official statistics)
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